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אא
אאאW


١K אT١א،T١ = k١I٢

             
٢K אT ٢، T٢ = k١ I٠

٢                          
I٠אK

٣K אT٣א T٣ = k٢ (d/t)        


Fd EאאאFtE  א
FאKE

אאאאW
T = k١ I٢ – k١ I٠

٢ – k٢ (d / t)
אאT = ٠ ،W

K١ ( I٢
 – I٠

٢) = k٢ ( d / t)
W

T = k d ( I٢ – I٠
٢) 

      א א   I٠ and d א   
      א א   F٢ ٣٩E Kא א 

אאא(Inverse – Time Relays) K 
 


